IN THE IOWA DISTRICT COURT IN AND FOR BENTON COUNTY

TROY RANDALL, INDIVIDUALLY, A f‘;
AND AS ADMINISTRATOR OF THE Zo = o
ESTATE OF TRISTON RANDALL, o e,
Plaintiff, No.LACV 9375< - 7,
V.
DENNIS ARY AND SANDRA ARY, VERDICT FORM

CO-ADMINISTRATORS OF THE

ESTATE OF QUENTIN RAY ARY; THE
ESTATE OF QUENTIN RAY ARY; JACK
YOUDE; AND VAN-HOF TRUCKING, INC.,

Defendants.

We find the following verdict on the questions submitted to us:
QUESTION NO. 1: Was Quentin Ary at fault?
Answer “yes” or “no.”

ANSWER: YES

[If your answer is “no,” do not answer Questions No. 2 or 3, and move to Question
No. 4. Also in answer to Question 5 enter 0% fault attributed to Quentin Ary.]

QUESTION NO. 2: Was the fault of Quentin Ary a cause of any item of damage
to Randall?

Answer “yes” or “no.”

ANSWER: YES

[If your answer is “no,” do not answer Question No. 3, and move to Question
No. 4. Also in answer to Question 5, enter 0% fault attributed to Quentin Ary.



QUESTION NO. 3: Was Jack Youde at fault?
Answer “yes” or “no.”

ANSWER: MO

[If your answer is “no,” do not answer Question No. 4, and move to Question
No. 5 and enter 0% fault attributed to Jack Youde.]

QUESTION NO. 4: Was the fault of Jack Youde a cause of any item of damage to
Randall?

Answer “yes” or “no.”

ANSWER:

[If your answer is “no,” move to Questions 5 and enter 0% fault attributed to Jack
Youde.]

QUESTION NO. 5: What percentage of the total fault do you attribute to Quentin
Ary or to Jack Youde? The percentages must total 100%.

[Review instructions included above in answering Question No. 5. Note that if you
answered Question No. 2 “yes” and Questions No. 4 “Yes” you will attribute some
fault to both Quentin Ary and to Jack Youde.]

ANSWER: Quentin Ray Ary loo %
Jack Youde Q %
TOTAL 100%

QUESTION NO. 6: State the amount of damages sustained by Randall for each of
the following items of damage. If Randall has failed to prove any item of damage,
or has failed to prove that any item of damage was proximately caused by the
party(ies)’ fault, enter “0” for that item.

1. The present value of the lost accumulation to the —
Estate of Triston Randall. s 59 , O 5w =
2 Consortium damages to Troy Randall, including

the present value of any future damages for loss



of consortium. $ ~O-

TOTAL (add the separate items of damage) $ 59,205, %%

0,00
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** To be signed by the jurors agreeing thereto after six hours or more of
deliberation.



